
Прозвенел звонок,
Начинается урок!



70 88 40 39 72 84 60 100 34 16 30

38+2 = к                  90-2 = а                  100-40 = л
80+20 = е                26+4 = е                  36-20 = и
30+40 = з                20+64 = п                36-2 = н
77-5 = е 

з а к р е п л е н и е





Город
 «Разгадайкино»

7…8=15                     54…4=50
12…4=8                     30..20=50
10…5=15                   6…50=56
14…5 =9                    100…10=90



Город
Сосчитайкино





ГОРОД
ОТДЫХАЙКИНО



ГОРОД
ЗАДАЧКИНО



УЧЕБНИК С. 77 ЗАДАЧА 5

Было - ? 40 и 20 кв.
Заселили – 50 кв.
Осталось?
(40+20)
(40+20) – 50 =        (кв.)
Ответ: осталось заселить 10 
квартир.

10



ГОРОД 
ИЗМЕРЯЙКИНО






